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I+ (The Amazon minforest’ iy plays o vital role 0 controt|ly
taking in carbon dioxide g releasing oxypen. -

© WO el
= Atinkes m carbon dioxide and relegses Oxygen '
2- (Loggers They cut down trees) to sell the (valuabie) hardwood | wood:
3= (Nutive popitlations | The depend on the minforest) for every

thing. they need,

Irom [ood and Loals to medicines and shalter : :

= 1115 important for everything they need '

L 15 important to get tools. food, medicine and shelter :

=

Remarks from (1-3) d
-

(NB): = Information betwesn brisckets is optional =
I= Ench ltem is allotted 6 marks a
[

== Uherlook irmeley At niormation gnless i excesds one Senicnce 'I-:"I:l.-'.. the

UOSWTET MIcS FETD

= Overlook copying. grammur and spelling mistakes and capitalization

h - ¥ 1 § i i
= Anv logical answer relnted 1o the text i acceptied

Model unswers from (4-%)
b= illegal
= consumption
Remuarks from (4-5)
1= Each item 1s alloded 5 murks
== Only the above mentioned unswers are accepted
3- Overlook capitalization and copying mistakes umless they give nse to another
word. [Fso, the answer rates zero

4- I the student writes two answers Tor the same ltem, consider the firsL
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- Each {tem IS all ot 6 marky
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2-Th
- e above ment
loned answers are ae - 1
= are nccepred in addition o 4n P '
- v logical answer, '
?- n'l._li . | IT, = R e -
- eriook s .
vV SPeiling, Bromumnr. unp_l.rirlg mistakes amd caJﬁmIi?ﬂlim =3
4 I the st : | ;|
student WTiles anl 7 . B
% onlv the corres i _
v the correction without rewnting the whole sentence, the B
ANsSWer rates 3 murks ' it
¥

Group 2 From 8-13
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Model answers (8-9) .
3- D/ decrenses :
. ¢/ are changed into plastic producls
Remarks from (8-9)
|- Edch item 1§ allotted 6 marks
Either the letter or the complete answer is accepted or bathy,
1. 11 the student writes two answers for the same item, eonsider the first,
4- Overlook copying mislakes
Model answers (10-11)
l0- disposal
: 1l- detergent
% Remarks from (10-11)
» |- Each item 15 ullotied 6 marks.
] 5 2- Only the above mentinned answers are accepted. - . ;
B 3+ Overlook copying mistakes and cnpitalizaion, R
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#‘lﬂﬁmt writa two dnswers for the sume item, his
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4= Any addition or omission that doesn't mmh i m’“ vl
= Any addition or omission that makes distortion, deduct 1 mark,
6- Any other ndvantage mentioned in the text is accepted. =i

Greup 3 Frem 14-24

Model answers (14-16)

I4- I/ near / opposite / next to
IS- a the
I6- und ~ o X
Remnrks from (14-16)
1- Each item is allotted 6 murks
2- Only the above mentioned answers are accepted
1- Spelling mistakes are overlooked, unless they give rise 1o pew words,
I 50, the answer rales zero

4- [f the student writes two nnswers for the same question, consider the firsti

Model answers (17-20)
(7. careful
I8~ rooms
1% spread
20 fewer
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1 Each item is allotied 6 marks.

’j:l;-*ﬂn'lj*.mn above mentioned unswers ane sccepted.
3~ Overlook copying mistakes and capitalization,
\

4= If the student swrites two answers in ong spuce, his unswer rofes zero,
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5- Ruepeating the sante answer more than once rales zero, even if one of them is

Cormeet.

Model answers (21-24)
21=  Where does the sand gazelle live?
- I which/what regions doos (he <and gazelle live?
- What'ls the habitat of the sand gazelle?
22- How does il evode preditors?
What does it use 1o evade predators?
-  How can it/ the sanid gazelle protect itseli’
23- Why i itin dunger O exunction

Whut are the thrents that cause the sand gazvelle extmetion ¥

What causes the sand wazelle extinetion

{ ANSWERS Vary)

Remarks from (21-24)
- Each item is allotred 8 murks

bl Rtk 5 I

5. Dediict 2 marks for wrong question word! word cluster

3. [f the student wriles o wrong question word with more than ane grammar

mEmAEANESERENN L T IIT Y IY Ty

mistike. the answer rales zero

1. Deduct 2 marks for o grammaor mistake proy ided that the total deduetion

IFETTELEELES:

shouldn't exceed 4 marks
same answer, consider the first.
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& [fthe student writes two questions for the

z 6- Overlook capitalization, punctuation and spelling mistakes. :
h : : e . his answer rates 2 marks. -
u 7. If the student writes the correct question word only. his ans ‘
; : - ! : ' « {5 uecepted. B
i 8- Any logical question or answer related to the dialogue 15 UCCep } ‘
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:‘“‘“’ Th i hree stops 1 form thﬁmiu are reqy
rles zero,
= IF the agent {by ants) is not mentioned, deduct 2 minrks.

26. (T wish) you wouldn't (waste 100 much paper.)
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&Q) V- (1 wish) you dldn" (waste too much paper.)

(N.B) - 11 the student writes the positive form. deduoct 2 marks.

27-  (She said) she had visited her grandparents the day before! the ptﬂ:mdqyﬁ! |

H

(N.B) - 11 the student doesn't change the word (vestenday), dedoct 1 maric
T

28~ He hed his house /1t painted.
- He had to have his house pamted. :
(N.B) - The four steps to form the cansative are neguired, otherwise the answer mie 20

- 1 the student uses the pub;h'i-t forn. deduct 2 marks. R
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Remurks from (25-28)

LR |
|- Fach item is allotted 8 murks. } ﬁ

2- Ovetlook spelling nistakes

3- Deduct 2 marks for each grammar mistake provided that the total deduction

should not exceed 4 marks il the sentence still makes sense.
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4- The words between brackets are optional.

Muodel answers (29-30)

29 .. (answersyary) o\ P:“&L’
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3= Dedust 1 mnrk for any grmpisar mistake.
4- Overlook spelling mistokes unless they give rise to another meni
11 30, deduct 1 mark.

_ (N.B) - the wotal dediction mrmwmmwm& m

ifthe completion still makes sense

3- Overlook punctuation marks.

G- Any logical completion is nocepted.
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7+ The clouse must contain a subject and o verb. [Fnot, the answer rates zero,
Maodel answers (31-33)

1= cut down on

32- strum
, f i3- peaceful

Remarks Mrom (31-33)

i- Bach item is allotted 6 marks _
iy

2- Only the above mentioned answers are accepiecl. F
i =

N

3- Dverlook copying mistiakes, £

d- Two answers for the same number rtes Zero.

e . |
W

]
1
-
i
B
[
i
E
L3
.
L
B
L
i u
=




P .Hnr ”'fvl‘r' ?"‘

_'7.-.’1’”“ >

f =1

'ﬁ-mvmmm
36 has workbd F hos been —j

A
Remarks from (24-36) e e

1= Each item is allotted 6 marks

2- Dnly the above mentioned unswers are accepted .
3= Overlook spelling mistakes unless they give rise o another meaning

i 50, deduct | mark
3= Complete (verb forms) are required, otherwise the answer rifes zero.

>~ in ¢nse the student writes two answers for the same number, consider the frst.

Model answer (37
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F (N.B) - the total deduetion for poth grammar and spelling shonld not
'5 3 marks if the trunslation still makes sense.

= e

3= Any other logical translation is accepted.
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= metivity: eruption
- after: when
Remarks for (38)

I- The item is allotted 8 marks.

I-

i 2- The sentence is divided into 2 units; Fach unit is allotted 4 marks,

: 3- Deduct 1 mark for;

- & missing or wrongly translated word r

- 4 grammur mistake ¢

- @t spelling mistake if it gives rise (0 8 new mMeaning. & TL

if the transiation still makes sense.

4= Any other logical translation is accepted.
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